Remédiation 7 - lly a

1. Auprésent=«ilya»:
There is + singulier
There are + pluriel

Forme négative : «il n’y a pas »
There isn’t + singulier
There aren’t + pluriel

2. Au preterit = « il y avait » :
There was + singulier
There were + pluriel

Forme négative : «il n’y avait pas »
There wasn’t + singulier
There weren’t + pluriel

3. Avec un modal : THERE + MODAL + BE + sinqulier / pluriel

« il doit 'y avoir » = there must be

« il ne doit pas y avoir » = there mustn’t be
« il peut y avoir » = there can / may / might be
« il ne peut pas y avoir » = there can’t be

« il pourrait y avoir » = there could be

« il ne pourrait pas y avoir » = there couldn’t be
« il devrait y avoir » = there should be

« il ne devrait pas y avoir » = there shouldn’t be
« il yaura» = there will be

«il n’y aura pas » = there won’t be

« il y aurait » = there would be
«il n’y aurait pas » = there wouldn’t be

NE PAS SE LAISSER TROMPER PAR LE FRANCGAIS

Il'y a# Il a;donc en anglais he has (got) est incorrect

Il existe = Il y a ; mais en anglais it exists est incorrect
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a corriger :

you have better living conditions in my village.

In the countryside he hasn't got pollution and discomfort
in a city there are more pollution than in the countryside
there is too many casualties

it exists another type of hero

in the past there aren't many heroes

if they aren't heroes, they isn't imagination



CORRECTION
a corriger :

there are better living conditions in my village.

In the countryside there isn’t pollution and discomfort

in a city there is more pollution than in the countryside

there are too many casualties

there is another type of hero

in the past there weren't many heroes

if there aren't heroes, there isn't imagination
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